Ratio to ATLAS

=
o

=

1072

[EEY

0.5

7000 GeV pp Jets
1 I | I I I | I I I | I I I —': -.(Q
— — =
I - 19
: R32 vs pT (anti-k (0.6), pT > 60) 13
B -3

m  ATLAS 43

--3-- Herwig 7.2.0 default N

| —a— Pythia 8.301 default 2
----- ¢ Sherpa 1.4.0 default ®

= : EL

— | —

— . —]

- E-J - u m -

B o’
(2]
<
(40)

- —©

— 48

— ™M
—i

-/ 1z

— '.: ] ><

— .:. ] c

S N E

' S
: )
= EE

— -1 &

- HE

= | | | | | | | | | | | | | | |— E

. . | ' ' ' I ' ' ' | ' ' ' =

3 : 32

? i

- | 05

‘ L | | . . . |
200 400 600 800

pT(Ieading jet) [GeV]



	Contents
	Page 1


